District Level Internal Examination Board
Annual Examination, 2021-22
Class - IX
Sub - General Mathematics
Full Marks : 90

Time : 3 hours
(The ficures in the margin indicate full marks for the question.)
[Section - "A' / T %]

(Question No. 1 to 12 Carry | mark each)
(2P A9 1 T o[ 12 (5 AT SEE 1)

Choose the correct answer : ( % @4 iz Tz e
1. Whichof'the following is a whole number ?
TG (01 A5 24l FAf 7

1
@-1 ()7 ©0 (125

2. The valueofa’is -

a3 g5 -

(a)0 (b)a (¢)-1 (d)1

Which of the following is an irrational number ?
THR (051 7 ST o

Lad

-

3 22
-3 )02U12Ul.. ©F @7

4. Which of the following is not a value of probability ?
THA WS ARl SR T

!
@1 ()5 (-1 (d)o

5. Theco-efficientof x> in2 +x2+x is
24 x4 X 92HWE X2 q HYS| -
@0 ()1 ()2 (d)x

6. Distance of the point (- 2, 3) fromy -axisis
(- 2, 3) FrqUbR y s wiai Ay 73 -
@-2 (b)3 (c)-3 @1
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7. The angle formed at the centre of the circle is
4Bl g6 (BWT T (T (T Al -
(a) 0" (b) 90" (¢) 180" (d) 360¢
8. The co-ordinate of origion in Cartesian Plane is -
FTEGA ATGeTS 7 [T BT -
(@) (4.4) (b)(1.1) (c)(0,0) (d)(-4,-4)
9. The mid value of the class interval 20 - 30 is -
20 - 30 (M) STIETT T -
()20 ()25 (¢)30 (d)50

10. Which of the following is not a polynomial -
T (FIFCH! 729 TZT-

3
@x*+2x+1 (b)1+3x (c)$5 (d)x—2+x+2

I1. Curved surface area of a cylinder is -
D6 TFOET 2DHIE -
(@) mr’h (b) mrl (c) 2arh (d) 4nr?
12. Summation of linear pair of angles is -
@R I/ e T -
(@) 360° (b)270° (c)90° (d) 180°

[Section - 'B' / ¢’ #i«}j)
(Question No. from 13 to 25 Carry 2 marks from each)
(2P 777 13 T 2191 25 051 AT Tl 2)

13. Simplify : GFR=1391) 5 (8 + /3) 2+ /3 )

3
14. Convert 20 in percentage form.

3
5$Wﬁ%ﬂﬁﬁ%@ﬁl

. _ 3 4
15. Write two rational numbers between g and — .

5
3 4
gw‘g q e 0! SAf{Tg Wy o

2]
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16. Express 054 in the form of —q-r. .where 'p'and 'q are integers and ¢ =1).

_ ?
054 % “if SIS I A TE ' g WS IR SAE g # 0.
]

17. The area of a square field is 10,000 square metre. Find the perimeter
- of'the field.

G 35T SRR e 10,000 357 51T | AR—=T 25T Sfeveat |

18. Locate /2 onthe number line.
CANEAS 7 T Sragl ef 4
19.1f p(y) =y -y + 1. then find the value of p(-1)
IWp(y)=yvi-y+1, mp(—l)aﬂﬁﬁ@ )
20. Write two solutions of 2x +y =7.
2x +y = 7 THG! il {12 |

21. Ifthe point (3, 4) lies on the graph of the equation 3y =ax+7, Tz
the value of 'a'.
T (3, 4) R 3y = ax + 7 PRGN (ETITER 82T AR
(OTF 'a' T TN Sferedt | C

22. In the figure, ACBD is a quadrilateral whose "\

AC =AD and AB bisects ZA. A {#:H: B
Show that AABC = AABD. ~
f5as ACBD 59954 AC =AD OI% \6

AB (@ ZA 3 ufedfe® 3H |

e il AABC = AABD.

23. In a cricket match, a batswoman hits a boundary 6 times out o1 30
balls she plays. Find the probability that she did not hit a boundary.
a4 farab cAere astaid) ufza fFeatne 30 B 711 fooss 6 B
AT @ | (o AT @HIERA Feifde Sferedr:

24. Give two examples of data that you can collect from your day-to-day life.
(SR Crielfiel Siiderd #@) o113 2fa) SA3 YO SRR HSITHIEI |

H Contd.

https://www.assamboard.com



25. In the figure ABCD is a parallelogram and % S—
| ]

AELDC, CFLAD.IfAB =16 c.m., e/ /
AE =8 cm and CF = 10 cm then find AD.
fsas ABCD «5! 71s3f&& &1 AELDC, D r—E._—-. R

CFLAD 13f@ AB =16 c.m. (= fiig,
AE =8 cm (22 fiie 5% CF = 10 cm (=2 33 28, (908 AD Sferedl |

[Section - "C' /"ot *{1<]{|
(Question No. 26 to 34 Carry 3 marks cach)
(2% 99 26 9 7€) 34 73 ISR YEE 3)
26. Divide x* +3x-+3x+ 1 by x + 1
XTH3xT 3N+ 1 Fx+ ] (ATIEFq
27. Factorise : (e farsme #a1) ¢
8a’ + b’ + 12a’h + 6ab-

28 Plot the points (x. y) given in the following table on the plane, choosing
suitable units of distance on the axis. https://www.assamboard.com
T ORI 2/ (x, y) Y (F261 19 THATE GFF (3 FFIeT0
FeZIo 7 |

X -2 -1 0o | 1 3
y 8 7 |-125) 3 | -1

29. Find the value of K, if x =2, y =1 is a solution of the equation
2x + 3y =K.

T x =2,y =1 7F 2x + 3y = K 3 901 504, (2% K 35 el |
30. If figure. lines AB and CD intersectat O.
If ZAOC + #ZBOE = 70" and

ZBOD = 40", find ZBOE. SN E.,

f5a%, AB =% CD @412 O Rge -

57 wfare ) < e S —

ZAOC + ZBOE = 70° 3% /BOD - 40",

(STT LBOE fefa 1 D
fd41
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31. In figure. ABCisan isoscels triangle .

i1 which altitudes BE and CF are drawn e
to equal sides AC and AB respectively. /é'\}ﬁ\
Show that these altitudes are equal. SN

e, ABC «bi 7EarR (g oi% 29 B~ — 3 C
WWACWWABW“NBEWCFWWWICW{@?

T 3 BHS TOIF 21 ST |

32. ABC is an isosceles triangle with AB=AC. Draw AP L BC to sho™

that /B = £C.
ABC 5! Fufaare f4eE 36 AB = AC | APLBC Siff& (73831 (8

£ZB=2C.
3 Prove that if chord of congruent circles subtend equal angles at their
centres, then the chords are equal.

ol 91 4, T T TG W (TS A (] BLAT I, (O
SIRE T |

| 34. Find the total surface area of a cone, if its stant heightis 21 m ar-

diameter of its base 1s 24 m.
T wgE g3 o FIfE e <, 3 T AfS Tt 21 fie 5
o= e 24 [ 2 |

[Section - 'D' / =14}
(Question No. 35 to 39 Carry 4 marks each)
(2% 79 35 3 2RI 39 (&1 ATHIIS FIRST 4)

35. Prove that parallelogram on the same basé and between the same

parallels are equal in arca.
S| 1 (T AT TS S TR FHNGRITT WSS APl AN

Fife] A |

Or / (31941)
 ,ve that two triangles on the samc base (or equal base) and
between the same parallels are equal in area.
oie F4l (4 ar (1A ) S 8oFS WE QTP AT
Wrere 431 ot fagem FfE 1 |
36. Construct an angle of 30° : (Write the steps of construction)
&5t 30° (e TeFe T (WP T 7 =HfAw)

L1 Contd.
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37. Prove that equal chords of a circle subtend equal angles at the centre.
oISl B (A G5! TG ST SHEANE (FES Tl (1 AT FF |

38. Sides of a triangle are in the ratio 12 : 17 : 25 and its perimeters 1s
540 cm. Find its area.

B! fagod ATe (861 12 : 17 : 25 So{Ie® TZ INF 27T AW
540 ¢z 331 B3R ifey Sfereal |

39. The length, breadth and height of a room are 5m, 4m and 3m
respectively. Find the cost of white washing the walls of the room
and the celing at the rate of Rs. 7.50 per m?.

q5! (FIOR WY, 27 Wiw THS! T 5 fiig, 4 &2, o= 3 fg) &fS
RS 7°50 BINP (FRIGR @7 AF BiFes pot ol 19
fAdfa =11

[Section - 'E' / "¢’ *fi<i]
(Question No. 40 Carries 3 + 2 marks)
(S TR 40 I TEARFE 3 + 2)
40. The blood groups of 30 student of class IX are recorded as follow -
W (HTR 30 T WG (%1 A [eEre wwwet Gt a9

FGiR
A, B, O, O, AB, O, A, O, B A
O, B. A O, O, A AB, 0, A A
O, O, AB, B, A, O, B A B 0

Represent this data in the form of a frequency distribution table,
Which is the most common and which is the rarest blood group
among these students ?

RIS frorem Sifer Fiors sAfRiNG eve 39 rYe=iS e
feoas (TTa sl witigers M (ST BATTR) ST (D
TBIZOLE F2flof) 2

==Y ==
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